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- ~ap* 4 (Laplace) #d%2 Rj# T s > g5t

V') +5y'(t)+6y(t)= ut-D+5(t-2), y(0)=0,y'(0)=1; H 7 u(t) = H = s
(unit step) &S > O(t) 2 "% & (impulse) Sn#c - (10 4 )

S - dH (X Y,2) =X +y 27 =16 0 RAaB(004)2 5 B ARN & F AR S HcE T

Vo (10 %)
cos@xsind —cosd —sin@
=~ A=|  cos?é sind —cos@xsing| » £ :
sind@ 0 coséd

A EF % - & 246" (orthogonal matrix) ? #f &P 2 o (54 )
OATFEEE SR ? (54)

Gdet(A) = ? (54 ) (7 Wi AchiF 258 s $i8)

T~ EHEH % B (random variable) X &% % % & S8 (probability density function)

S f, (X) = k(l—x) . 0<x<1 g
m X 0 elsewhere

Ok & (54)
OX e ¥ w (mean value) @ E[X] . (54)

@ X%engp 2 & (mean value) : E[X?] - (54)
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Fiee f (t) /4% *CiEidss (Laplace transform) £% L{f (1)} - EI[JL{e2t sin 4t}?.‘7bff? ?

(s+2)°+4 (s+2)°+4 (s-2)*+16 (s-2)*+16

By -2y 2y =0 Vi ?
By =e* (B) y =e* +cos X (€)Y =C0osX Dy =e*cosx

Fax™ +bx" K X’y +5xy'+3y = 0 Vi > fim+n Vil £L {7 2

(B)-5 ®-4 ©3 D5
N IR e LI LV Y
dx y-—2e*cosy

@ e*siny+ycosy—siny=c B e*sin?y+ysiny—cosy=c
©e*siny+(y-1cosy=c D e*sin?y+cosy+siny=c
SEONEE ‘——2xy+e y=9 Hl1y(0)=2 - y'(0)=1- % Hiry(Xx) = Zax BRI A
B > Fifag+a +a, fifl ?
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R I [FE X = (L2 AR LU B'={(10), (0,-12), (23,-5)} V% :

W[X]g = (5-8,-2) ® [X]g = 1L2,-1) O[X]g = (58,-2) O [X]g = L-2,-1)
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)P EYF% (rank ) £ 3
®[t 0 08],[0 1 02],[0 0 1]sauil A [T (row space) FL

<c>{1 0 ?} {0 1 7} [0 0 1" Lk A 97 2R (column space) L7

D) A 95570 fif = 0

1 0 -2 3
9 A= 45 1.0 I SIS d £ (i 9
=lo 2 6 -1 P A PSSl (determinant) BRI
-3 8 9 1
(8 123 (B) 234 (©) 456 (D) 567

10 Ml H 1 ES - il (orthogonal matrix ) ?

V3 1 1 0 0
10 0 -1 > 3
A B C D0 -1 0
<>{0 J <>{1 o} ° % i <>0 Lo
2 2
11 Py e A 2 Er X ~ Y VA ﬁ # S %% 8 ( joint probability density function ) %
1
foy(y) =115 O0SX=3 05YS5 g pa<x <3 2<Y <4)= 9
0, £
(A) i B 3 © i D i
15 15 15 15
12 - ’3’5&[!4,@}%{}—f E"II‘ILI/“”FF?FﬁF*/ A ﬁlﬁ:l/fli‘&}yjﬁjﬂt 0.9’0.7’0.5B0.3’—ﬁ[5}§%%’3@§1@x

U AR T VB P(x Loy o
(4) 0.9055 (B 0.9450 ©) 0.9895 (D 0.9976

13 - @5y (random variable) X - #{L i (mean value) E[X]=2 -2 (variance) oy =1 ° ]
Y =2X - HIE[Y?] ffissii 2
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A sin(3—4i) =sin(3) cos(4) —isin(4) cos(3) ®) sin(3 — 4i) =isin(3) cos(4) —sin(4) cos(3)
©) sin(3—4i) =sin(3) cosh(4) —isinh(4) cos(3) (D) sin(3—4i) =isin(3) cosh(4) —sinh(4) cos(3)
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(A)i-27cos(l) ® 7 ©1 D 0

Fif =32y 22 (yz + xz —xyz) o P I O 2
Q) VF = X5/3yzl/2i + X7/321/2j + X7/3y2—1/2k B V x (Vf) =0
©Ve(Vx(Vf)=0 DV(Ve(Vf)=0

HIF6L C sz gk 2V X = cos(t) +tsin(t) 5 y=sin(t) —tcos(t) : z=t2 > [[IE "% (curvature) % Lt 2

) /5t aaé% m»lgiﬁ D 0

Bu=2i+j+kv=2i+]j+2k - [llu® v VIR 2
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SE| ARl = —0 7 . 1 . 7 E 1 .y cpp =
Hliast C pus iy =0 x =2 5 y=§t2 P z=t243" EIJ@%!TH#O, 0,3)fU%#TP2=(1,E,4) FUPTiELR (arc
length) L ?
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